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Note :– This paper is of Thirty five (35) marks divided into

two (02) sections ‘A’ and ‘B’. Attempt the

questions contained in these sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on

th e given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

  (35)  (02)

          





       


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Section–A

–

Long Answ er Type Questions

 2×9½=19

Note :– Section ‘A’ contains Five (05) Long-answer type

questions of Nine and Half (9½) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(9½)

(02) 

1. Describe in detail about centre of origin of any th re e

crop plants.





2. Describe mutation and its significance in details.

 

3. Explain timber yielding plants in detail.



4. Describe in detail about in- s itu  and e x- s itu

conservation.

         


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5. Describe in detail the ethnic groups of India.



Section–B

–

Sh ort Answ er Type Questions

 4×4=16

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Four (04) marks each. Learners are

required to answer any four (04) questions only.

 (08) 

(04)

(04) 

1. Write a short note on any tw o of the following :

(a) The staple food of north Indian people

(b) Leaf Vegetables

(c) Incomplete Dominance



 

 

 
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2. Write a short note on the following :

(a) Beverages

(b) Different types of legumes



 

 

3. Define difference between following :

(a) Cinchona and Basil

(b) Tomato and Potato



 

 

4. Economic significance of Sisham tree.



5. Define the following :

(a) Cereals and Millets

(b) Mutation

(c) Origin of crops

(d) Beverages
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

 

 

 

 

6. Describe the sex-linked inheritance in plants.



7. Various uses of Chir-Pine.



8. Describe the some Ethno-medicinal plants with their

importance.



**************


